(© Copyright : Gatic Pty Ltd - 2015

10

11

12

13

14 15

16

. B

72

fl [ ) ! '\
) ol C IIC )| o )
,?; bv<>v \/ V<>V‘AVAVAVAVAVA’VOV<>V<>V<>V4 %
200,00 [ 0000
; (@) 8. ;
P!OOI\\O‘ AS 3008 LIC.010123 ’<> <>®!q
*@0%%% <>Q<>Q<>Q<>Q<><><><> Op
Bl OO OO 1S
N OO0000000000
0000000000 00%
0000000000008 || 8
B 000000000000, € g ¢ = |
© © (i ot
OO OO KO OYORS w
_ b‘“%%% I —
L S 00000000000004 = | =
B[D0x00xoxoxomxoxmexpeiia
A A
000000000008
0 0000000000000
HQ<><><> DUCTILEIRON 3013460 <> QO}‘
OO s VAOY- _
Lol 020 o casspzokn s a1 _ STE
2 [aVaVa AVAVAVAYA INZAZN]| el e\ NOTE:
— _\o|-| | | |—|o(_ : J —| | 8 only of M10x50 Hex head
_|( i i ) - bolts required for assembly
\, ,( ) ( . ), ,j , C/W washers and nuts.
- B SECTION B-B Ihag’n Dwg. | Rev. Title Material Qty. Mass
537 :
1 2187 C 457x610 C/O Solid Top Cover Class D | Ductile Iron 500-7 1 49.7 kg
687
2 4000 B 457mm Draw Cut Bar Class D Ductile Iron 500-7 1 9.2 kg
3 4005 C 610mm LH Side Bar Class D Ductile Iron 500-7 1 9.8 kg
4 4006 C 610mm RH Side Bar Class D Ductile Iron 500-7 1 9.8 kg
Sf*_\?’\?’\ﬁﬁ“l_ s e e et 5 4003 B 457mm Under Cut Bar Class D Ductile Iron 500-7 1 7.7 kg
S l II:L\\ ’ ' ’/—LJ@ ‘ 6 2856 A M10 Washer Nylon, general purpose 2 0.0 kg
S . _
N | i Y 7 2857 A M10x65 Socket Head Cap Bolt Stainless Steel, 304 2 0.1 kg
8 2855 A M10 Washer Stainless Steel, 304 2 0.0 kg
457 C/O
9 2854 C Plastic Plug @26 mm UV Stabilized Nylon 2 0.0 kg
SECTION A-A _ "
10 1681 A Plastic Keyhole Plug UV Stabilized Nylon 4 0.0 kg
UNLESS OTHERWISE STATED | ;NgAR MACHINING TOLERANCE OM = I; O/A Il; TYP I C/o = C ing BY DATE |“Uhsoisaen |™F  457X610 SOLID TOP COVER & FRAME
% ALL MEASURES IN MILIMETERS. E DESIGNED: - - SCALE: CLASS D - ASSEMBLY
g CT9 ER?; T TOLERANCES: FINISH RCIAC?\TTE ESJO AFSDSIF;’ — DRAWN: F.M. 11-02-15 FORMAﬂ'T'SA3 IATERIAL: —-— I MASS: 863 kg
| 0. _ 155 ° o ANGULAR MACHINING TOLERANCE: VANISED TO AS/NZ: GATIC PTY LTD . THIRD ANGLE o=@ | ss. | 110215 : — —
© |Co 1|:§A0‘|g|515 INITI%E'ZEéE?iﬁ'ION EF;\I;/l c?(é DRAFT TAPERS: 3¢ + APPLIED ON AL M ACHINED SURRACES S o o e e o oA ooe vewwamtiemmau | PROJECTION [memoveo| W, | 110215 |°" 1 0f 1 5089 A
2 | 3 | 4 5 6 7 | 8 9 10 | 11 | 12 | 13 | 14 | 15 | 16




